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> (1+2)*(3-4)*5"2

ans = -75

> exp(10)*1og(5) *sin(0.5%pi)
ans = 3.5450e+04

> exit

exit Octave 0000000000000

2 ObOOoobooogd

Octave D0 O00O0OOOOOOOOODODOOCDOOOO
gboooooobooobooboboboboboboon
ubobooobbooobooobuoaoooboaobbad
oooobooogon

> A=[1 2;3 4]

1 2
3 4

> b=[3;4]

3

4
gbobooboobbooboobooboboooboo
ooogooo

> AxDb

ans =
11
25

O0o0o0oo0ooooooobooooooooon
> C=A%*Db;
O00o0O0O000o0O0oo0ooboOooooooooo

> C

11
25

*Octave o oo oo o0 oo o0 oo oo
http://www.gnu.org/software/octave/ O http://
www.obihiro.ac.jp/ “suzukim/masuda/octave/ 00 0 00O

uboboobooooboobooboobooooono

> C’

ans =

11 25
uobooboobooboooboobooboobo

> A(2,1)
ans = 3

gboooboooboobgooobooboobooboo

> A(2,1)=5

1 2
5 4
ubbooobooboobbooboobooobod
oood

> A(:,1)

ans =

5
gbooobooobooboboobooboobooobag

> D=3*A

3 6
15 12

ugboboboboooooobooooooboboooooon

> A.*D
ans =
3 12
75 48

> A./D

ans =
0.33333 0.33333
0.33333 0.33333

gboboobOoboobooboboooooboooon

> e=10:5:30
e =
10 15 20 25 30

2000000000O0DO0000O0 10000
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Octave 00 O0O0OO0OOO0ODODODOOOOOOOO
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> cos(2/3%*pi)
ans = -0.50000

ubobooboobboobooboobboooobooa
ooooboooo

> sin(f)
ans =
0.84147

0.90930 0.14112 -0.75680

000000 Osin, cos, tan, acos, atan, tanh, exp, log,
sqrt 0000000000000 helpOOOOOODO

> help exp
OO0O000D help-i0D info0000O00ODODOOO
> help -1 exp

0000000000000000000Omax, min,
sum, prod 000000000000

> max([1 3 5 2 4])

ans = 5
0000 invOOOOoO0oa

> A=[1 2;3 4]; inv(A)
ans =
-2.00000 1.00000
1.50000 -0.50000

Ub00ooDoobOooooboobeigODODO

> [eigvec eigvall=eig(A)
eigvec =
-0.82456 -0.41597
0.56577 -0.90938

eigval =
-0.37228 0.00000
0.00000 5.37228

OO00000000000D0000 mean, std, var OO
oooobooooo

> var([1 2 3 4]1)
ans = 1.6667

000 10000000000 rand0000 000 10
OO0O00DOo0O00oof0randn00D00OOOODODOO
gboooboooobooboobooboooono

> randn(1,4)
ans =

0.22797 -1.63055 0.38559 -1.66595

UbO0Osortd0oooog

>[sorted index]=sort([7 3 6 1 2])
sorted =

1 2 3 6 7
index =

4 5 2 3 1

4 0000

Octave DO0ODO0OO0OODOOOOOOOOOODOOO
000000000000O0000plet0000O0DOOO

> x=[-2:0.1:2]; y=sin(x); plot(x,y)
0000000 histOOOoooooo
> a=randn(1000,1); hist(a)

30000000 surf, meshOO O OO0 contour OO
oooo

> x=[-3:0.1:3]; y=stdnormal_pdf(x); surf(y’*y);

O000000 print 00000000 OD0ODO LaTeX
Ub0o0o0O0bO000epsOOO0O00OO0O0O0OOO

> print -deps graph.eps

5 OctaveUOUOOODODOOOO
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uobod. ooboobooobooboooooo
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gboboooooooobooobooooboobooboooboon
000000 o0obO0000D000myscrippmd 0000
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A=[1 2; 3 4];
b=[5;6];
C=AxDb;

UboobobobobobobOO octaved 0O OO0

gboooooooooooboooobooboboobon
OOOctave DOOODOOOOOO

> pwd

oooOooOD0OD0OO00000000000000 myscript.m
O000000000000000000OctavedO0O
ooooooo

> myscript

Uob00oboo00d0Omyscrippm 000000000
oooooooo

00000 MacOOOODO Aquaterm 00000000000
gooooooooooooooo
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000 for00000OOCO100 1000000000
gbooobooboobooooboo

n=100;

a=0;

for i=1:n
a=a+i;

end

Octave UO0O0O0O0OO0OOOOCOOOODOODOOOOO
000000 for000D0O0O0ODOOCOODOOODO
gdigoilobobooooooooboooooooon
oo0O000 n=100000000000000000000O

a=sum(1:1000000) ;

ooooooboooooobooon
Oooooo ifoooboobooooo

x=-10:0.1:10;
for xx=1:length(x)
if x(xx)>0
y (xx)=x(xx) ;
else
y (xx)=-x(xx) ;
end
end
plot(x,y)

uoboobooboboobooboobooboobo

x=-10:0.1:10;
y=zeros(size(x));
y (x>0)=x(x>0) ;

y (x<=0)=-x(x<=0) ;
plot(x,y)

0000 whileOO switchOOOOO
O0: O0O0OOCOOOOO0 functiondO0ooooQoO
gboooooooboboobobobobobooobooon

uboboaoboobboobboabobbodabod
00 gpdfmO0O0000000000O

function z=g_pdf (x,mu,sigma)

z=1/sqrt (2*pi*sigma”2)*exp (- (x-mu) . 2/ (2*xsigma~2)) ;

obooooooooooooooboobOoobooboobon
ubooobooboooooboon

clear all;

mu=0;

sigma=1;
x=[-3:0.1:3];
y=g_pdf (x,mu,sigma) ;

figure(1);

U1 0oan

clf
plot(x,y);
print -deps gauss_pdf.eps

6 UJUouobogooooon

gboboooboobbooobooboobooboooo
00000000000000 1(a)0000

%x 0<z<1
% —-il? 1<x<?2
f@)=1 3 2<w<3 1)
—34+1z 3<z<4
% —-%x 4<x<5h

O00: JO00ODOOOOo0O00OooooDoD ftmDOOO
oood

function y=f(x)

y=zeros(size(x));

flag=(0<=x & x<1);
y(flag)=0.25*x(flag) ;

flag=(1<=x & x<2);
y(flag)=-0.25*x(flag)+0.5;

flag=(2<=x & x<3);
y(flag)=0.25%ones (size(x(flag)));

flag=(3<=x & x<4);
y(flag)=0.5*x(flag)-1.5;

flag=(4<=x & x<=5);
y(flag)=-0.5*x(flag)+2.5;

OO0 ftmO00000000O0O0OOOOOOOO0OO0 f(x)
gooobobooooboobooooooo



clear all;
n=10000;
u=5*rand(n,1);
v=0.6%rand(n,1);
flag=(v<=£f(u));

figure(1);
clf
hist(u(flag==1),50);

figure(2);

clf

hold on
plot(u(flag==1),v(flag==1),’bo’);
plot(u(flag™=1),v(flag™=1),’gx’);
x=[0:0.1:5];

y=1f (x);

plot(x,y,’r=?);

O000: 000000000 f() 0000000
F(z)0OOO F-Y(v)00DOOOOOOOO

y@§; 0<u< %
2-v2-8u f<u<j
F_l(u): 14+ 4u %§u<% (2)
3+V-2+4u j<u<}
5—VA—4du 3<u<l1

ooooo0oo0o00b0obo0 FinvmdOOOOODO

function x=Finv(u)

x=zeros (size(u));

flag=(0<=u & u<1/8);
x(flag)=sqrt(8+u(flag));

flag=(1/8<=u & u<1/4);
x(flag)=2-sqrt(2-8+u(flag));

flag=(1/4<=u & u<1/2);
x(flag)=1+4*u(flag) ;

flag=(1/2<=u & u<3/4);
x(flag)=3+sqrt(4*u(flag)-2);

flag=(3/4<=u & u<=1);
x(flag)=5-sqrt(4-4*u(flag));

OO0 FinvmOOOO0OOO0O0O0O0O0O0OOCOOODODOOO
0 f(xy DOOOODOOOOOOOOOOOOOO

clear all;
n=10000;
u=rand(1,n);

x=Finv(u) ;

0 5 0 0.2 0.4 0.6 0.8

(a) f(x)
02000000

(c) F~H(u)

figure(1);
clf
hist(x,50);
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O0: JOooooOooOoOoCcCocOoOooooooobooon
(Laplacian distribution) O 0 O O

f() = 5 ep(~Izl) 3)

(a) 0000000000000 F(2)D0000000
00 F-Y(u)00O0O00000000000 octave
00000000000

(bp) DUOD0OOODOO0OODO0OODOOODOOUOOOO
ooboooooooooooobooOog =5z <5
gboooboobooooobooon

ub: oboobobooboooooaboboooodaod
gboooooooobooboooobooooboboon
good

f(z) >0, / f(@)de =1 (4)
gdoooooooooooooooogoog
O0: ODO000oooooobooboooooooogno
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